

International Journal of Statistics and Applied Mathematics

ISSN: 2456-1452
 Maths 2020; 5(6): 60-67
 © 2020 Stats & Maths
www.mathsjournal.com
 Received: 23-09-2020
 Accepted: 26-10-2020

Sanjay Kumar Suman
 Research Scholar, Department of
 Mathematics, J.P. University,
 Chapra, Bihar, India

Brijendra Kumar Singh
 Associate Professor, Department
 of Mathematics, J.P. University,
 Chapra, Bihar, India

Infinite triple integral representation for the polynomial set $S_n(x, y)$

Sanjay Kumar Suman and Brijendra Kumar Singh

Abstract

In the present paper an attempt has been made to express an Infinite Triple Integral representation for the polynomial set $S_n(x, y)$. Many interesting new results may be obtained as particular cases on separating the parameter. This polynomial Set covers as many as forty-one orthogonal and non-orthogonal polynomials and have been deduced as particular as cases. The newly defined generalized Hypergeometric polynomial Set $S_n(X, Y)$ may be immense use in new phase of Mathematics relvent to Physics, Chemistry, Engineering and Social sciences. These integral representations have been given in the form of theorems together with a number of new and interesting particular cases, which may be useful for scientists and engineers.

Keywords: Appell function generalized hypergeometric polynomial integral representation, orthogonal polynomial

Introduction

We define the generalized hypergeometric polynomial set $S_n(x, y)$ by means of the generating functions,

$$e^{\lambda y t} F \left[\begin{matrix} (G_r); \\ \lambda_1 y^{e_1} t^{e_1} \\ (H_s); \end{matrix} \right] \times F \left[\begin{matrix} (a_p); (A_h); (C_u) \\ \lambda_3 x^{e_3} t, \lambda_2 x^{e_2} y^{-e_2} t^{e_2} \\ (b_q); (B_k); (D_v) \end{matrix} \right]$$

$$= \sum_{n=0}^{\infty} S_{n; \lambda; \lambda_1; \lambda_2; \lambda_3; (G_r); (a_p); (A_h); (C_u); (H_s); (b_q); (B_k); (D_v)} (x, y) t^n \quad \dots \quad (1.1)$$

Where $\lambda, \lambda_1, \lambda_2, \lambda_3$ are real and e_1, e_2, e_3 are positive integers.

The left hand side of (1.1) contains Appell function of two variables in the notation of Burchnall and Chaundy [1]. The polynomial set contains a number of parameters, for simphilifys, we shall denote.

$$S_{n; \lambda; \lambda_1; \lambda_2; \lambda_3; (G_r); (a_p); (A_h); (C_u); (H_s); (b_q); (B_k); (D_v)} (x, y) \quad \text{by } S_n(x, y).$$

Where n denote the order of the polynomial set.
 After little simplification (1.1) gives

Corresponding Author:
Sanjay Kumar Suman
 Research Scholar, Department of
 Mathematics, J.P. University,
 Chapra, Bihar, India

$$S_n(x, y) = \sum_{\substack{m, m_1, m_2 > 0 \\ m + e_1 m_1 + e_2 m_2 \leq 0}} \frac{\Delta(m_1, m_2)}{(n - m - e_1 m_1 - e_2 m_2)!} \dots \tag{1.2}$$

Where

$$\Delta(m_1, m_2) = \frac{[(a_p)]_{n-m-e_1 m_1-(e_2-1)m_2} [(A_h)]_{n-m-e_1 m_1-e_2 m_2} [(G_r)]_{m_1} [(C_u)]_{m_2}}{[(b_q)]_{n-m-e_1 m_1-(e_2-1)m_2} [(B_k)]_{n-m-e_1 m_1-e_2 m_2} [(H_s)]_{m_1} [(D_v)]_{m_2}} \\ \times \frac{x^{m_2 e_2} \lambda^m \lambda_1^{m_1} \lambda_2^{m_2} (\lambda_3 x^{e_3})^{n-m-e_1 m_1-e_2 m_2} y^{m+e_1 m_1+e_2 m_2}}{m! m_1! m_2! (n-m-e_1 m_1-e_2 m_2)!}$$

The polynomial set $S_n(x, y)$ happens to the generalization of as many as forty one orthogonal and non-orthogonal polynomials.

Notations

1. $(m) = 1, 2, 3, \dots, m$.
2. $(Ap) = A1, A2, A3, \dots, Ap$.
3. $[(Ap)] = A1, A2, A3, \dots, Ap$.
4. $[(Ap)]n = (A1)n, (A2)n, (A3)n, \dots, (Ap)n$.
5. $\Delta(a, b) = \frac{b}{a}, \frac{b+1}{a}, \dots, \frac{b+a-1}{a}$.
6. $\Gamma(a \pm b) = \Gamma(a+b)\Gamma(a-b)$.
7. $\Gamma_* \Gamma_*(a+b) = \Gamma(a+b)\Gamma(a+b)$.
8. $K = \frac{[(a_p)]_n [(A_h)]_n (\lambda_3 x^{e_3})^n}{[(b_q)]_n [(B_k)]_n n!}$

Theorem

For $e_2 > 1$

$$S_n(x, y) = \frac{8\Gamma\left(1 + \frac{\nu}{2} \pm \mu\right)}{i^n \sqrt{\pi} \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1}{2} + \frac{\nu}{2}\right) \Gamma\left(1 + \frac{\nu}{2}\right) \int_0^\infty f(t) J_n(t) dt} \\ \times \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{\nu-1}{2}} (x^2 + y^2 + z^2)^{\frac{-\nu}{2}} \exp\left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2}\right] \\ \times \cos\left[2\mu \left\{ \tan^{-1}\left(\frac{x^2 + y^2}{2}\right) \right\} f(x^2 + y^2 + z^2)\right] \\ \times \sum_{m=0}^n \sum_{m_1=0}^{\left[\frac{n-m}{e_1}\right]} \frac{[(a_p)]_{n-m-e_1 m_1} [(A_h)]_{n-m-e_1 m_1} [(G_r)]_{m_1} \lambda^m \lambda_1^{m_1}}{[(b_q)]_{n-m-e_1 m_1} [(B_k)]_{n-m-e_1 m_1} [(H_s)]_{m_1} m! m_1!} \times \frac{(\lambda_2 x^{e_2})^{n-m-e_1 m_1} y^{m+e_1 m_1}}{(n-m-e_1 m_1)}$$

$$\times F \left[\begin{matrix} \Delta(e_2; -n + m + e_1 m_1), \Delta(e_2 - 1; 1 - (b_q) - n + m + e_1 m_1), \\ \Delta(e_2; 1 - (B_k) - n + m + e_1 m_1), (C_u), \left(1 + \frac{v}{2} \pm \mu\right), \sigma; \\ \frac{\lambda_2 x^{e_2} \{-e_2\}^{e_2(q-p+h-k+1)} \{-(e_2 - 1)\}^{(e_2-1)(q-p)}}{(\lambda_2 x^{e_3} y)^{e_2}} \\ \Delta(e_2 - 1; 1 - (a_p) - n + m + e_1 m_1), \\ \Delta(e_2; 1 - (A_h) - n + m + e_1 m_1), (D_v), \frac{1}{2} + \frac{v}{2}, 1 + \frac{v}{2}; \end{matrix} \right] dx dy dz \quad \dots \quad (3.1)$$

Proof:

$$I_6 = \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1}{2}} (x^2 + y^2 + z^2)^{-\frac{v}{2}} \exp \left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2} \right] \\ \times \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} f(x^2 + y^2 + z^2) \right] \\ \times \sum_{m=0}^n \sum_{m_1=0}^{\left[\frac{n-m}{e_1} \right]} \times \frac{[(a_p)]_{n-m-e_1 m_1} [(A_h)]_{n-m-e_1 m_1} [(G_r)]_{m_1} \lambda^m \lambda_1^{m_1}}{[(b_q)]_{n-m-e_1 m_1} [(B_k)]_{n-m-e_1 m_1} [(H_s)]_{m_1} m! m_1!} \times \frac{(\lambda_2 x^{e_2})^{n-m-e_1 m_1} y^{m+e_1 m_1}}{(n-m-e_1 m_1)!}$$

$$\times F \left[\begin{matrix} \Delta(e_2; -n + m + e_1 m_1), \Delta(e_2 - 1; 1 - (b_q) - n + m + e_1 m_1), \\ \Delta(e_2; 1 - (B_k) - n + m + e_1 m_1), (C_u), \left(1 + \frac{v}{2} \pm \mu\right), \sigma; \\ \frac{\lambda_2 x^{e_2} \{-e_2\}^{e_2(q-p+k-h+1)} \{-(e_2 - 1)\}^{(e_2-1)(q-p)}}{(\lambda_2 x^{e_3} y)^{e_2}} \\ \Delta(e_2 - 1; 1 - (a_p) - n + m + e_1 m_1), \\ \Delta(e_2; 1 - (A_h) - n + m + e_1 m_1), (D_v), \frac{1}{2} + \frac{v}{2}, 1 + \frac{v}{2}; \end{matrix} \right] dx dy dz \\ = \sum_{m=0}^n \sum_{m_1=0}^{\left[\frac{n-m}{e_1} \right]} \sum_{m_2=0}^{\left[\frac{n-m-e_1 m_1}{e_2} \right]} \frac{[(a_p)]_{n-m-e_1 m_1} [(A_h)]_{n-m-e_1 m_1}}{[(b_q)]_{n-m-e_1 m_1} [(B_k)]_{n-m-e_1 m_1}} \\ \times \frac{[(G_r)]_{m_1} (\lambda_2 x^{e_2})^{n-m-e_1 m_1} y^{m+e_1 m_1} \Delta_{m_2} [e_2; -n + m + e_1 m_1]}{[(H_s)]_{m_1} m! m_1! (n-m-e_1 m_1)!} \\ \times \frac{\Delta_{m_2} [e_2 - 1; 1 - (b_q) - n + m + e_1 m_1] \Delta_{m_2} [e_2; 1 - (B_k) - n + m + e_1 m_1]}{\Delta_{m_2} [e_2 - 1; 1 - (a_p) - n + m + e_1 m_1] \Delta_{m_2} [e_2; 1 - (A_p) - n + m + e_1 m_1]}$$

$$\begin{aligned}
 & \frac{[(C_u)]_{m_2} \left(1 + \frac{v}{2} \pm \mu\right)_{m_2} (\sigma)_{m_2} (\lambda_2 x^{e_2})^{m_2} (-e_2)^{e_2(q-p+k-h+1)m_2} \{-(e_2 - 1)\}^{(e_2-1)(q-p)m_2}}{[(D_v)]_{m_2} \left(\frac{1}{2} + \frac{v}{2}\right)_{m_2} \left(1 + \frac{v}{2}\right)_{m_2} (\lambda_2 x^{e_3} y)^{e_2 m_2}} \\
 & \times \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1+2m_2}{2}} (x^2 + y^2 + z^2)^{-\frac{v+2m_2}{2}} \\
 & \times \exp \left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2} \right] \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} f(x^2 + y^2 + z^2) \right] dx dy dz \dots \tag{3.2} \\
 & = \frac{i^n \sqrt{\pi} \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1}{2} + \frac{v}{2}\right) \Gamma\left(1 + \frac{v}{2}\right)}{8 \Gamma\left(1 + \frac{v}{2} \pm \mu\right)} \int_0^\infty f(t) J_n(t) dt S_n(x, y)
 \end{aligned}$$

On using [172] viz

$$\begin{aligned}
 & \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1}{2}} (x^2 + y^2 + z^2)^{\frac{v}{2}} \exp \left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2} \right] \\
 & \times \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} \right] f(x^2 + y^2 + z^2) dx dy dz \\
 & = \frac{i^n \sqrt{\pi} \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1+v}{2}\right) \Gamma\left(1 + \frac{v}{2}\right)}{8 \Gamma\left(1 + \frac{v}{2} \pm \mu\right)} \int_0^\infty f(t) J_n(t) dt
 \end{aligned}$$

Particular Cases of (3.1)

Separating the term corresponding to $\lambda = 0$ and putting $r = 0 = s = \lambda 1$ in (3.1), we obtain a number of results on specializing the remaining parameters:

i) On making the substitution $p = 0 = q = h = k = u = v; y = x; \lambda 3 = 1 = e3 = e1; e2 = 2, \lambda 2 = -1; x = 3y$ we achieve

$$\begin{aligned}
 g_n(x) &= \frac{8 \Gamma\left(1 + \frac{v}{2} \pm \mu\right) (2x)^n}{n! \sqrt{\pi} i^n \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1}{2} + \frac{v}{2}\right) \Gamma\left(1 + \frac{v}{2}\right) \int_0^\infty f(t) J_n(t) dt} \\
 & \times \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1}{2}} (x^2 + y^2 + z^2)^{\frac{v}{2}} \exp \left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2} \right] \\
 & \times \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} f(x^2 + y^2 + z^2) \right]
 \end{aligned}$$

$$\times F \left[\begin{matrix} \Delta(2, -n), 1 + \alpha, \left(1 + \frac{\nu}{2} \pm \mu\right), \sigma; \\ \frac{-1}{x^2} \\ 1 + \beta, \frac{1}{2} + \frac{\nu}{2}, 1 + \frac{\nu}{2}; \end{matrix} \right] dx dy dz$$

Where

$h_n^*(y)$ are the Humbert polynomials [2].

ii) On making the substitution $p = 0 = q = h = k = r = s; e_2 = m, e_3 = 1 = e_1 = e; \lambda_3 = \delta; \lambda_2 = \lambda$ and replacing x and y by $\frac{1}{c}; x^\delta$ we arrive at

$$B_n(x, y) = \frac{8\Gamma\left(1 - \frac{\nu}{2} \pm \mu\right) [(\alpha_p)]_n (vx)^n}{[(\beta_q)]_n n! \sqrt{\pi} i^n \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1}{2} + \frac{\nu}{2}\right)}$$

$$\times \frac{1}{\Gamma\left(1 + \frac{\nu}{2}\right) \int_0^\infty f(t) J_n(t) dt} \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{\nu-1}{2}} (x^2 + y^2 + z^2)^{-\frac{\nu}{2}}$$

$$\times \exp \left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2} \right] \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} \right] f(x^2 + y^2 + z^2)$$

$$\times F \left[\begin{matrix} \Delta(m; -n) \Delta(m; 1 - (\beta_q) - n) (a_r), 1 + \frac{\nu}{2} \pm \mu, \delta; \\ \frac{\mu(-m)^{m(q-p+1)}}{(vxy)^m} \\ \Delta\left(m; 1 - (\alpha_p) - n\right), (b_s), \frac{1}{2} + \frac{\nu}{2}, 1 + \frac{\nu}{2}; \end{matrix} \right] dx dy dz$$

Where

$F_n(x)$ are the polynomials defined by Shah [3].

iii) On putting $p = 0 = q = h = k = r = s; e_2 = m; e_3 = 1 = \lambda_3; \lambda_2 = \beta; \alpha$ for x, y we achieve

$$H_{n,m,\nu}(x) = \frac{8\Gamma\left(1 - \frac{\nu}{2} \pm \mu\right) (vx)^n}{n! \sqrt{\pi} i^n \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1}{2} + \frac{\nu}{2}\right) \Gamma\left(1 + \frac{\nu}{2}\right) \int_0^\infty f(t) J_n(t) dt}$$

$$\times \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{\nu-1}{2}} (x^2 + y^2 + z^2)^{-\frac{\nu}{2}} \exp \left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2} \right] \times \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} \right] f(x^2 + y^2 + z^2)$$

$$\times F \left[\begin{matrix} \Delta(m; -n), 1 + \frac{v}{2} \pm \mu, \sigma; \\ -\left(\frac{-m}{vx}\right)^m \\ \frac{1}{2} + \frac{v}{2}, 1 + \frac{v}{2}; \end{matrix} \right] dx dy dz$$

Where

$H_n, m(\alpha, \alpha)$ are the generalized polynomials defined by Gupta and Jain [4].

iv) Putting $p = 0 = q = h = k = u = v = r = s; e_3 = 1 = e_1; \lambda_3 = v, \lambda_2 = -1$, we get

$$B_{n,v;(\alpha_p)}^{c;\mu;m;\beta_q}(x) = \frac{8\Gamma\left(1 + \frac{v}{2} \pm \mu\right) [(\alpha_p)]_n (vx)^n}{[(\beta_q)]_n n! \sqrt{\pi} i^n \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1}{2} + \frac{v}{2}\right) \Gamma\left(1 + \frac{v}{2}\right)}$$

$$\times \frac{1}{\int_0^\infty f(t) J_n(t) dt} \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1}{2}} (x^2 + y^2 + z^2)^{-\frac{v}{2}} \exp\left[i(x^2 + y^2 + z^2) \frac{x^2 - y^2}{x^2 + y^2}\right]$$

$$\times \cos\left[2\mu \left\{ \tan^{-1}\left(\frac{x^2 + y^2}{2}\right) \right\}\right] f(x^2 + y^2 + z^2)$$

$$\times F \left[\begin{matrix} \Delta(m; -n), \Delta(m; 1 - (\beta_q) - n), 1 + \frac{v}{2} \pm \mu, \sigma; \\ \frac{\mu(-m)^{m(q-p+1)}}{(vx)^m} \\ \Delta(n; 1 - (\alpha_p) - n), \frac{1}{2} + \frac{v}{2}, 1 + \frac{v}{2}; \end{matrix} \right] dx dy dz$$

Where $H_n, m, v(x)$ are the generalized polynomials defined by Lahiri [5].

v) If we set $p = 0 = q = u = v = r = s; e_2 = m, e_3 = 1 = e_1; y = x, \lambda_2 = \mu, \lambda_3 = v, (\beta_q)$ instead of B_k and (α_p) instead of (A_p) then we achieve

$$G_n(\alpha, \beta; x) = \frac{8\Gamma\left(1 + \frac{v}{2} \pm \mu\right) (\alpha)_n (\beta)_n (vx)^n}{(a + \beta)_n n! \sqrt{\pi} i^n \Gamma\left(\frac{1}{2} \pm \mu\right) \Gamma\left(\frac{1}{2} + \frac{v}{2}\right) \Gamma\left(1 + \frac{v}{2}\right) \int_0^\infty f(t) J_n(t) dt} \times \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1}{2}} (x^2 + y^2 + z^2)^{-\frac{v}{2}}$$

$$\times F \left[\begin{matrix} \Delta(2; -n), 1 - \alpha - \beta - n, 1 + \frac{v}{2} \pm \mu, \sigma; \\ \frac{1}{x^2} \\ 1 - \alpha - n, 1 - \beta - n, \frac{1}{2} + \frac{v}{2}, 1 + \frac{v}{2}; \end{matrix} \right] dx dy dz$$

$$\times \exp \left[i \left(x^2 + y^2 + z^2 \right) \frac{x^2 - y^2}{x^2 + y^2} \right] \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} \right] f \left(x^2 + y^2 + z^2 \right)$$

Where

$$B_{n,v;(\alpha_p)}^{c,\mu;m;(\beta_q)}(x)$$

Are the generalized polynomials defined by Bhargava [6].

vi) On making the substitution $q = 0 = r = s = u = v$; $e_3 = 1 = e_1 = p = h = k$; $e_2 = 2 = \lambda_3$; $\lambda_2 = -1$, $a_1 = \alpha$, $A_1 = \beta$, $B_1 = \alpha + \beta$, we obtain

$$R_{n,v} \left(\frac{1}{z} \right) = \frac{8\Gamma \left(1 + \frac{v}{2} \pm \mu \right) (\nu)_n (2z)^n}{n! \sqrt{\pi} i^n \Gamma \left(\frac{1}{2} \pm \mu \right) \Gamma \left(\frac{1}{2} + \frac{v}{2} \right) \Gamma \left(1 + \frac{v}{2} \right) \int_0^\infty f(t) J_n(t) dt} \times \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1}{2}} (x^2 + y^2 + z^2)^{\frac{v}{2}} \exp \left[i \left(x^2 + y^2 + z^2 \right) \frac{x^2 - y^2}{x^2 + y^2} \right]$$

$$\times \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} \right] f \left(x^2 + y^2 + z^2 \right)$$

$$\times F \left[\begin{matrix} \Delta(2; -n), 1 + \frac{v}{2} \pm \mu, \sigma; \\ -\frac{1}{z^2} \\ -n, 1 - v - n, v, \frac{1}{2} + \frac{v}{2}, 1 + \frac{v}{2}; \end{matrix} \right] dx dy dz$$

Where $G_n(\alpha, \beta; x)$ are the generalized Badiant polynomials [7].

(vii) If we take $q = 0 = k = u = r = s$; $p = 1 = h = v = e_3$; $e_2 = 2 = \lambda_3$; $\lambda_2 = -1$; $a_1 = 1$, $A_1 = v$, $D_1 = v$ and z for x and y we achieve

$$h_n(x) = \frac{8\Gamma \left(1 - \frac{v}{2} \pm \mu \right) (\nu)_n (3v)^n}{n! \sqrt{\pi} i^n \Gamma \left(\frac{1}{2} \pm \mu \right) \Gamma \left(\frac{1}{2} + \frac{v}{2} \right) \Gamma \left(1 + \frac{v}{2} \right) \int_0^\infty f(t) J_n(t) dt} \times \int_0^\infty \int_0^\infty \int_0^\infty (x^2 + y^2)^{\frac{v-1}{2}} (x^2 + y^2 + z^2)^{\frac{v}{2}} \exp \left[i \left(x^2 + y^2 + z^2 \right) \frac{x^2 - y^2}{x^2 + y^2} \right]$$

$$\times \cos \left[2\mu \left\{ \tan^{-1} \left(\frac{x^2 + y^2}{2} \right) \right\} \right] f \left(x^2 + y^2 + z^2 \right)$$

$$\times F \left[\begin{array}{c} \Delta(3; -n), 1 + \frac{v}{2} \pm \mu, \sigma; \\ \Delta(2; 1 - v - n), \frac{1}{2} + \frac{v}{2}, 1 + \frac{v}{2}; \end{array} \right] \frac{1}{4x^3} dx dy dz$$

Where

$$R_{n,v} \left(\frac{1}{z} \right)$$

Are the Lommel polynomials [8: P. 112 (5)].

References

1. Burchnall JL, Chaundy TW. Expansions of speil's double hypergeometric function (II), Quarts. J Math. Oxford ser 1941;12:112-128.
2. Humbert P. Sur certain polynomes orthogonaux. R.C. Acad. Sci. Paris 1923;196:1282-1284.
3. Shah ML. On some relations involving generalized sister-Celine's polys, Bul. St. Tehn. Politehn Timisoaraser. Mat. Fiz-Mec. Theoret. Apl 1970;15(29):103-114.
4. Jain GC, Gupta RP. On a class of polynomials and associated properties. Utilitas Math 1975;7:363-381.
5. Lahiri M. Generalization of Hermite Polynomials Proc, Amer. Math. Soc 1971;27(1):117-121.
6. Bhargava KM. A Ph.D. thesis entitled on a generalizad polynomial $B_n(x)$. B.H.U, 1967.
7. Badiant PE. Polynomials related to Appell functions of two variables, Michigan thesi, 1958.
8. Rainville ED. Special functions, Mac Millan Co., New York, 1960.